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FIRSTSEMESTER
PART TIME DIPLOMA COURSE IN CME
APPLIED MATHEMATICS -1
ime : Three Hours Maximum Marks : 100

ote : (i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.
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(ii) In case of any doubt or dispute, the English
version question should be treatéd as final.

Rl ot s % wite o P 2 Rk A
S T F e I A A A
Choose the correct answer:- 2 each
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i) If “Cr= 120 and "Pl_=720, then the value of r is
2R "C, =120 AR "P =720} @ r & 7= v
(a) 6 (b) 3
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: 1 4] 6 | v) If maz; then the value of sin2a is
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iii) If the sum of infinite terms ofaGP.is8andt ‘ . ‘
) second term is 2,then the first term is 2. a) Resolve into partial fractions
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@3 - b4 (x+2)(x+1)*" 9
© 5 # - @6 b) Find the coefficient of x in the expansion of
iv) The value of e is between oy T
e T AF BNl | | (x +;] . 9
() 2<e<3 | (b)e<2<3 Ly o | |
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V 4) r . . { (5)
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{1 1 1 1 - Class (=Re) Frequency (3Tgfd)

12 23734 45 0-10 s
6
| 10-20 7
4 1 1 1 1 20-30 15
fag #iu log, —= 1—2_—2—3- 34 45 ......... 30-40 55,
b) Provethat"C+C_ ="'C. 6 40-30 8
. RGPVONLINE.COM ‘
fg #ifg °C +°C_, ="'C,. 5. a) Prove that/ g &g
¢) IfS,,S, S, aresums ofn,2n, 3nterms ofanA.P 1+sin20-c0s20 _
show that S, =3 (8,-S)). 6 1+sin26+cos20 : | 6,
FETAR 307 3 n, 2n, 3n TR F AR S, S, AR S, b) Inany A ABC prove that
| % S,=3(S7S). | ‘
A @ el 1 8, =3 5,5 Rl ot A ABC ¥ R g FiRm
* a (b cos C—ccos B)=b? 6
4. Find the mean, median and mode for the following ¢) Iftwo coins are tossed continuously. What is the
data. 18 probability of getting a head and a tail? 6
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6. a) Stateand proVe De-Moiver’s theorem. 10 1
R-vfraR e Wfae w@ e #il fag ®fm (2 b c[=@-b)b-c)(c-a)
a b '
1+d
b) Write 1"?% in the form of a+ib. 8

11+21 ‘Eﬁaﬂbﬁmﬁﬁﬁ:@"{l 8. a) InaAABC, if b= J§ cm, ¢ = 1 cm and
- | £4 =30°, then find g and £C. 6

RGPVONLINE.COM Rt By ABCH Al b= V3 &l o= 1 % ol
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2 31
7. a) Ifd= 31 2| 5nd 4~ and 44" . 10 b) Solve any two trignometrical équations.
1 2 3 ' * 6 each

5 31 P & & i & Prnf whE w @
qﬁAm 301 2} @y 4ol ad’ ?I:TWIEHH i) tan29+(1—ﬁ)tan9—ﬁ=0
12 3 |

i1) 2sin®@++3cos@+1=0

L]

&l )
- iii) 3(sec’ 9 +tan’@) =5
I 1 1
b) Provethat |? b cl=(a=b)(b-c)c-a)
‘ a B ' A D
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